EARAROBEEIERT — 2 N— IBISH —F

2017858290 (A) 2mE@H1H

Ell eexsxs8 ciat ¥5%—4#

EEE R

[A&4£] 1 7% :1,100,000 @ 2 3 :385,000 @ 33 :220,000  ~ 4 3#&:165,000 @ 5 7 :110,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
TSFFLREZLY i 5 ﬁﬂgﬁé% 1:36.7 1-1-1-1 | 40.3| — 2 473 ﬂi;;‘" (i#n)
RFFHRFFLT BATU-XH—F ' ) 9 m me
- _ _ 4t 6 | WL 1:36.9 6-6-4-2 |39.7| — 3 475 | FIUES (H)
:-_1 I‘ |\'7 )12 - 54.0 (1 1/2) (+4) *ﬁfﬁi*ﬂ‘ﬂls
R:707% B:XA4JEZNY FRESS
TLATTH LT 4 8 ;ﬁs*gﬁég 1:37.1 3-4-3-3 | 40.0| — 10 | 474 ﬁ%ﬁﬁ% € )
. 1 _ =LiCH
LRE G E—FANE BAU—TTs T W 19 | A
FLy—H3I24 i 4| et 1:87.7  |12-12-10-9 [ 39.2 | — | 11 | 468 ngf ()
= : @ 18
R:TUHARILE B TAIIRTLZR ) 9 1 de sk
HEITHEA 1:37.9 4-5-5-8 | 40.7| — 9 456 | EHE (fahE)
e k) vy i 6 i
: Ol Bl
QEANRRTNY Bk E—F ) | Ymmi
K 4 4 | FEARA 1:37.9 11-11-11-7 | 39.6 | — 7 475 | INERR ()
68|11 T—RAXE=F 56.0 g€ HALEE
LTYIYELTR B XA e ) | s
IR Z PL 2 o4 ;';%3%% 1:38.3 8-7-7-6 |40.5| — 8 491 %%E (@7n)
. 2 -
RRAIZHr—R BESTTUF(— ? R e
N o o7 | mEG 1:38.4 10-9-8-10 | 40.5 | — 1 458 | EREREL (AA1E)
8|7 10| VAT NINT .0 (172) Y |musa
RiZa—AISL K BFILTH—N 9 | %5 ax
o4 | BSOS 1:39.1 5-3-6-5 |41.9| — 5 430 | HOF (#F)
9|55 Y27 56.0 f =ESE
R:FA—TFAAA BTAHT—H @ SR PN
10l5l6|Tavs KLt # 5 59?3;7_ 1:39.3 2224 |42.6| — | 4 | 504 ﬁ?ﬂ*)ﬂfp(’y\ljlgéﬁ
o 1 - &=
QiR T M A—Tr—K— K Bl KX bULT w 9 | =iansn
= j o4 | BAERK 1:40.6 7-8-9-11 | 42.7| — 6 501 | BEEET (@A)
111812 ATIVATIV— 56.0 7 INIBHEF
LFHYTTIRE B Fy—3sad o t15) | pggy
S 4 5 | HEAE 1:40.9 9-10-12-12 [ 42.2 | — 12 | 480 |FIFIEHE (#0HE)
EH 8 {w >3 ?l;?_'?') . #53.0 (' 1/2) (o) | PIRVERES )
R:T7L>FFE2T1 BEAT ERKS
@ 1—F—@&BIEf
13=7r= 3,6,4,7,5,9,12,1,8,10,11,2
Aol=5r= 3,6,5,4,7,9,1,12,10,8,11,2
G§a=7r= 3,6,4,9,7,5,1,10,12,2,11,8
41—+ — 3,9,4,6,5,1,11,7,2,10,12,8
[ RN
B OB 3 320M 714K 3-9 290 e & 3-7 360/ &R 3-4-9 13,680M
8 B 3 1704 3-4 2,450 B 3-7 710M JEH 3-9-4 39,960
9 200M 4-9 2,300 B E 3-9 740/
4 700/ B HE 3-9 1,410

ABICOVWTRDTEEERROODE. TR LIV,




